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[=27rXx8+27rX3+21r X5
=167+67r+107=327(cm)
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09 FAE| UIAE2| PolZ  cme} sh

120 _ .
27y X 360 =67 Sor=9

whebA] FAYES] WA E] dol= 9 cmo|tt,
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wrEba] Aol HA|e] BAF 9] A4 120]tt,

04 Foj7 AN=r wEoA= ArhHA = A(C)
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+(15+13+25+13) x 30
=480-+1980=2460(cm?)

03 ASHAY g 2A)g9] dolE ¢ cmet 5
64°=384, a’=64=8" Soa=8 (" a>0)
upehA] HSHA 2] §F HAE] ] Zoli= 8 cmoltt,
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07 7159 =o€ heme} oFH
X9’ X h=4867, 81mh=48671 S h=6
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=4r+127r+24=167+24(cm?)
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13 (Zé‘sa‘(’l):%xsxs) X2+ (6+8-+10) X 25
=48+600=648(cm”)

(=3]) :(%x 8 X 6) X 25=600(cm”)



14 2| 9 F9] Zol& r cme} 5HH
2nr=8r Sor=4
L (F3)) = (7 x4%) x12=1927(cm”’)

15 Zol AAZRS AA (S HA%oR sem
st 1308 A1 o) Bsols A (),

oz 193} g, 7em
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o1 6><6+< ><6><x>><4 1569141
36+12xr=156
12x=120 Cox=10

02 YHO WA 5] Zol& x cme} 3FH
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=36x10=360(cm?)
~(BY¥ol)=70%x2+360
=140+360=500(cm?”)
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=717k 169

1TOEOFHE @2 B4 40,2,5,6,6,7
2112 23 94

3 ()20 FxX (25 (3 70F Ol 80% 0|2k
4(1)4 (216,20 (3)8

3 ()G = 3+5+4+2=14(9)
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